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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their

own words as far as practicable.

1.  Answer any ten questions: 2x10=20
- weifl @es e mie ¢

a)  Afaircoinistossed twice. What is the probability

of getting two consecutive tails?

@35 Al Jwl 7R 53 FAE 217917 9 tail =PI
AGI 9 2

b) A and B are two events such that P(K) =04,

P(ANB)=0.2, then find P(A N B).

A 93¢ B 7f6 95911 2we Witz P(A)=04,
P(ANB)=0.2 O P(ANB) 39 7A?
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d)

g)

h)
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What do you mean by random experiment? Give

an example.

AGIRAISETR A 0 F (R TAZIPTR (314 |

Write the probability mass function of Poisson

distribution.

Poisson {(z*[t<F Probability mass function
14|

What do you mean by interval estimation?
Interval Estimation &1 ¥ (I 2

Give one example for each:

(1) A null event (ii) mutually exclusive events.
Aforria b Tuizge s ¢

(1) A null event (ii) mutually exclusive event
Distinguish between estimator and estimate.
Estimator 3% Estimate @ 25 slie< 2

Find the probability that a card is selected from
a well shuffled deck of cards is five and black.

€3 Bl O @b SleTeit@ shuffle T3 2 (A
G Ol G0 O (@02 et ©ml @8 70
FIET @R € ST AR F9© 2



i)

k)

D
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State the law of large numbers.
2 MR oG fage 4|

Distinguish between standard deviation and

standard error.
o e qak @6 @xiet oy Fie

A simple random sample of size 5 is drawn
without replacement from a finite population of
size 35. If the population standard deviation is
6.25, what is the standard error of the sample

mean?

AN O = 35, A S = 5 q78 TGl
SRSWOR #&fore 782 T 2% | AW A5l F3/E
e 6.25 23 IR0 TR 50T @b 2 T© 21 2

Distinguish between parameter and statistic.
Parameter €3% Statistic I3 &y 21 F1 2

What do you mean by sampling distribution?

TR R FeT0e QIR 2

From a batch of 100 items of which 20 are
defective, exactly 2 items are chosen at a time.
Find the probability that both the items are

defective.

so0ofb B W& 20 77y @6y | @ @ 96 ¥y
G (@02 W 6 72 F 0TS REAT MBI F© 2
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p)

If the probability of a defective bolt is 0.10, find
the mean and standard distribution of defective
bolts in a total of 400 bolts.

@G 400 6 @ITH7 Sy F o5l @i it 1w
G I [pie 9 203 AW Fo5f @It TRl
0.10 27

State one merit and one demerit of sampling.

T AR G0 AR € Qo SPIRl TrEe F9 |

Answer any four questions: 5x4=20

@-CFI DA AT Ted nie ¢

a)

b)
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An unbiased coin is thrown three times. If the
random variable X denotes the number of heads
obtained, write the sample space and find the
cumulative distribution function for X.

2+3=5
GG o< i fomam 51 71 261 | AW ASRARETS
ST (28 ST w12t e $CF, ©izeE Sample
Space T =19 @3k X @3 Cumulative distribution
function efa 1|

State and prove the Bayes’ Theorem.  2+3=5
Bayes-a3 o[ Ky 32 \¢ &l 77|

For any two events A and B prove that

P(AB)<P(A)<P(A+B)<P(A)+P(B).
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@ (&9 70 901 A @32 B @3 &) &0
P(AB)<P(A)<P(A+B)<P(A)+P(B)

d) Fortwoevents Aand B, P(A)=0.4, P(A+B)=0.7
and P(B) = p. Find the value of p when (i) events
are mutually exclusive (ii) events are

independent.

w9691 A @3 B 93 &« @we itz P(A)= 0.4,
P(A+B) =0.7 43 P(B) = p 9% p € Wi fefx
32 |74 (1) 9601 4o mutually exclusive (i) 969M{0

independent.

e)  Explain the classical definition of probability with

help of an example. What are the limitations of

this approach? 2+3=5
AGITIR Zpo{it <RIl CulZseTR 1l 91 | G Kb
Aimreiefer @19 |
f)  Write the properties of normal distribution.
Normal fcita (@i @1 |
3.  Answer any two questions: 10x2=20

@i 76 dogs Tew ais ¢

a)  Under what conditions binomial distribution can
be applied? Derive mean and variance of
binomial distribution. 3+7=10

308/Eco. [5] [Turn Over]

b)

d)
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(F9 (%G binomial [ 2T I TR 2
Binomial fFRGR 1% @R (owslia e 34|

1)  Ina certain manuscript of 1000 pages, 300
typographical errors occur. What is the
probability that a randomly selected page
will be error free? Also find the probability
that 10 randomly selected pages will have

at most 3 errors.

G35 Sooo RIR AgleT#its woofb Gizfok #fb
2 G GeENEETelE FEibe 5ol @b
26T AR F© 2 GFF @ Fl $ofb sice
FAE® ot T AR TSR FO @0

i1)  Distinguish between sampling and non-
sampling error. 5+5=10
Sampling @32 Non-sampling @03 N
A1 (=12 |

Discuss about different types of probability

sampling by stating suitable example for each

type. 10

fafe7 «<cTa probability sampling =HtF Twizge

AR SICETID 1 |

i) If f(x)=ke™,0<x<e is a density

function then determine the constant k and
also find E(x).
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M f(x) =ke™,0< x < oo GG probability
density function & 12 k @9 T @R E(X)
oo 1 |

Write a brief note on different methods of

point estimation. 5+5=10

Point estimation - €3 Jfeq siafe H@ @i
ke B @2



